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6.2
5
Multinomial Logit ,
61 62
( (i) )
0. )
6.1
6.2.1 A
A
bl
(Direct Elasticity)

BTS



Auto P(Auto)
Ttime
Tcost
BTS P(BTS)
Ttime
Tcost
P(Ord_Bus)
Ttime
Tcost
P(Air_Bus)
Ttime
Tcost

OrdBus

Air Bus

Auto P(Auto)
Ttime
Tcost
BTS P(BTS)
Ttime
Tcost
P(Ord_Bus)
Ttime
Tcost
P(Air_Bus)
Ttime
Tcost
Socio-Eco.  Income

OrdBus

Air Bus

6.2

0.48
2493
4559

0.18
24.50
217.35

0.13
33.31

4.07

0.21
33.59
10.58

6.3

0.45
32.04
53.36

0.32
30.58
26.87

0.14
31.97

7.98

0.09
47.54

9.75
24.82

-0.02745

-0.0343

-0.02745

-0.0343

-0.02745

-0.0343

-0.02745

-0.0343

-0.02854

-0.4769

-0.02854

-0.4769

-0.02854

-0.4769

-0.02854

-0.4769

AS

(Direct Elasticity)

-0.36
-0.81

-0.55
-0.77

-0.80
-0.12

-0.73
-0.29

AW

(Direct Elasticity)

-0.51
-0.57

-0.59
-0.35

-0.93
-0.13

-1.23
-0.17
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(Cross Elasticity)

0.33
0.75

(Cross Elasticity)

0.41
0.46



(Cross Elasticity)

A
6.2.2
30 (
6.4
BTS P(BTS)
Ttime
Toost
Ord B P(Ord_Bus)
Ttime
Toost
AirBus  P(Air_Bus)
Ttime
Tcost

0.22
28.41
31.16

0.41
38.49

4.32

0.38
41.98

9.10

30
6.5

BS

-0.03378
-0.04026

-0.03378
-0.04026

-0.03378
-0.04026
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6.4)

6.6)

(Direct-Elasticity)

-0.75
-0.98

-0.77
-0.10

-0.88
-0.23



6.5

BTS

OrdBus

Air Bus

BTS

Ord Bus

AirBus

Socio-Eco.

30

P(BTS)
Ttime

Tcost
P(Ord_Bus)

Ttime

Tcost
P(Air_Bus)

Ttime

Tcost

P(BTS)
Ttime
Tcost

P(Ord_Bus)
Ttime
Tcost

P(Air_Bus)
Ttime
Tcost
Income

0.22
28.41

31.16
0.41

38.49

4.32
0.38

41.98

9.10

6.6

0.40
32.97
26.68

0.37
49.43

6.83

0.24
46.45

9.48
14.61

30

-0.03583 (
-0.02327 (

-0.03583 (
002327 (

1003583 (
-0.02327 (

BS (

<30

> 30
-0.03979

<30

> 30
-0.03979

<30

> 30
-0.03979

-0.00154
-0.02307

-0.00154
-0.02307

-0.00154
-0.02307

BW

(Direct-Elasticity)

-0.80
-0.52
-0.97

-0.82
-0.53
-0.10

-0.93

-0.61
-0.22

(Direct Elasticity)

-0,45
-0.37

-0.70
-0.10

-0.80
-0.17
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BTS

BTS
6.2.3 C
C
6.7 68
C
-0.9
-0.15
6.7 CS
(Direct Elasticity)  (Cross Elasticity)
Auto P(Auto) 0.60
Ttime 34.99 -0.00121 -0.30 0.45
Tcost 58.85 -0.01416 -0.34 0.50
OrdBus P(Ord_Bus) 0.11
Ttime 43.97 -0.00121 -0.84
Tcost 7.04 -0.01416 -0.09
Air Bus  P(Air_Bus) 0.29
Ttime 55.71 -0.00121 -0.85
Tcost 14.57 -0.01416 -0.15

Socio-Eco.  Income 17.74



6.8
Auto P(Auto) 0.67
Ttime 49.86
Tcost 74.22
Ord Bus P(Ord_Bus) 0.06
Ttime 57.79
Tcost 18.43
Air Bus  P(Air_Bus) 0.27
Ttime 77.65
Tcost 18.83
Socio-Eco.  Income 24.38
A
6.2.4
2

(Mtime)

69 610

-0.00083
-0.01328

-0.00083
-0.01328

-0.00083
-0.01328
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cw
(Direct Elasticity) ~ (Cross Elasticity)
-0.34 0.67
-0.33 0.66
-1.10
-0.23
-1.15
-0.18
C
C
C
BTS
D
D
(Access)
15



Ord Bus  P(Ord_Bus)
Access
Mtime
Teost

P(Air_Bus)
Access
Mtime

Tcost

Air_Bus

6.10

Ord B P(Ord Bus)
Access
Mtime
Teost

P(Air_Bus)
Access
Mtime
Tcost

Income

Air_Bus

Socio-Eco.

0.42
16.84
34.03
6.36
0.58
22.22
43.43
15.43

041
2232
49.34
12.62
0.59
21.89
5347
18.31

13.39

-0.05454
-0.02002

-0.0481

-0.05454
-0.02002

-0.0481

-0.07308
-0.02041

-0.6349

-0.07308
-0.02041

-0.6349

fl

DS

(Direct Elasticity)

-0.53
-0.39-
-0.18

-0.51
-0.37
-0.31

bW

(Direct Elasticity)

-0.96
-0.59
-0.35

-0.66
-0.45
-0.36
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6.3

6.3.1

BTS
BTS
BTS

BTS
BTS ,
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6.3.2

BTS

15
BTS

BTS

BTS

BTS
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